Fill in the blanks. The correct answer in each case is either “a scalar”, “a vector’ or “invalid”. SCORE: /4 PTS
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Fill in the blanks. : SCORE:

[a]

[b]
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If 7 is a vector of magnitude 8, and 7 is a vector of magnitude 6, and the angle between 7 and # is 3% - radians,
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Fill in the blanks.
NOTE: For each part (ie. [a], [b], [c]), you must fill in all blanks correctly to receive any credit.

[a]

[c]

If line £ is parallel to plane g, then the DirecTtiod vector of line £ and

the NI A AL vector of plane g are PE2-Piard I CAN AR,

If plane 0, is parallel to plane §,, then the AOZ AN vector of plane ¢, and

the MORMAL vector of plane £, are _PAV AL LEL

If line £ is perpendicular to plane g0, thenthe [D)RECT |0 ) vector of line £ and

the A2 AL vector of plane g are A2 A LLEL
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Let P be the point (1, —1, —3). SCORE: /17 PTS
Let Q be the point (—1,1, —2).
Let R be the point such that PR =6i +3k .

[a] Find the area of triangle POR . K) SAMTY Crteci. !
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[b] Find symmetric equations for the line which is perpendicular to the plane 2y —3z = 6, and also contains (. Ji () 3
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[c] Find the standard (point- normal) equation of the plane which contams P Q and R.
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[d] Find parametric equations for the line which is parallel to = T =5+ z, and also contains R .
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[e] Find a vector of magnitude 5 perpendicular to both PQ and PR.
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